
①
(a) S = &(1 , 1)

,
3

, 2)
,

41
,

33 ,
(2

, 1) ,
(2

, 2) ,
(2

, 3) ,
13 , 1 , (3 , 2) ,

(3 , 3)]

(b)

E = G(2 ,
1)

,
(2 ,

2)
,
(2, 333

F = G(2 , 3)
,

(3 , 2)]

[1F = 9(2 , 313
EVF = &(2 ,

11 , (2
,
2)

,
(2

, 3), 13
,
23]

E = 5(( , 1)
,

(1 ,
2)

,
(1

,
3)

,
(3 ,

12
,

33
,

26
,

13
, 31]

(P(E) = 3/9 = 43

P(F) = 2/9



② (a)

(5)== 10
-

12
-

!

ways to pick
where 6's go

16626
--

5 . 5 = 25

ways to fill in

rest

~wer=0 . 02.
.

(b) /Sl = 28

platleast /head) = 1 - Ploheads)

= 1- t =

=
~...



② (a)

(54)=
(b)

Pick fur WA
value for

triplet

(13) = 13

pick three #
Suits

(2) = 4

Pick last #card

(45) = 48

-48 tAnswer :E~ 0
. 00922 ...



⑪

(a) (i)===

(4)=0 .
42057

(b) 0 .
535



⑤ (a)
H

#(H , 4)

*
6

(b)

+ y + y5 = + + = + + 5

==E
~rus



⑧ (S) = (5?) = 52

(E) = 13 = E 58,
28

,
38

,
48

,
58

,
68,

78
,
88, 98

,
108

,
58

IF1 =40183

(EF) = 1 F = 5k8,
k5

,
kP

, kaB]
T

EnF = 3k8]

PIELE)=
= 0 .

03/25


